FeE KRS 1=—T7REHRK
Challenge & Dream K& (CDK&) AE—FE

BF DIYSR BARS

ER26E108198(H)
S5 N7 —F

XF DIVSR BALS

Bt #EFE [FH i B IEfz] EFHE | FHE i B
1 |F0e & INA | 7HRRRR—YH5TEER|38.500 1 [=53x —i N3 BAIFRIESST  |31.550
2 |FEAK B ING | 7HIRRRKR—YHS5TER [ 38.350 2 | KW EiE ING | FOINRRRR—YHS5T [37.150
3 |[Eif BEK N2 TUOKIEYZT 38300 3 (2@ e ING | PHOIRRRIR—Y4HS5T [37.000
4 |47 BEH IN | THOINRRIR—Y 95T |37.850 4 |hig B | N8| YRFILEKESST  [37.000
5 | FHt N3 ILbyTHZT [37.600 5 |HHE KB N BAIRIKIESST [37.000
6 |[HEM &E— IN | BAIEIKIESST [37.000 6 |Ei¥E & IN3 | BAIEIKIESST  [37.000
7 |R+I)IEBE | M4 ILbyTHZT [37.000 7 |FE Mg N3 | URTILIKIEIST  [36.950
8 |/l &zt N2 TV REYST  [36.950 8 |l EEE | /M4 PKRKEHSST  [36.750
9 |fR —#E N | RBEEIREIST [36.650 9 |XKJI HME N3 PKREESSD 36.600
10 |4 BB N2 ANAKRIEYST  [36.450 10 [E4 BE IN2 | FOINRRR—Y 45T [36.550

BF DIYVSX EEHA BhH ZF DIVSR #EEA &LV

lgcr | EFA | EHF i fadi) Btz EFHE | FHE B it
1 |f0& & INA | FHNRRRR—YHSSTEBR| 9.750 TR e v NN Pl 9.550
2 |F\K ING | FHONRRKB—YHSTEER| 9.700 2 |AlE A& N2 NN Pl 9.500
3 |Eif FEK N2 TVIREIST 9.650 3 |EH fef ING | PONRARKR—Y ST | 9.400

3 [BE B | /M ABRIAEIST 9.400
3 |&HHEXE N BAIFRESST | 9.400

BF DIYSR #EBEA HE XF DIVSX BB EfkiE

lgh| FEFE [¥FF B Ba Ighr| EFE |FF B Ba
1 |f08 & INA | F7HNRRRR—YHS5TER| 9.900 1 R —id /N3 BAIXKESST | 9.400
2 |#wK ING | 7HORRRKB—YHS5TEER| 9.800 2 | Rl IN | FHONRRR—YHST | 9.150
3 |MFH F# /N3 ILbyTH57 9.750 3 |HhIE BET | /3| URFIEKIESST | 9.100

3 |LEi#E & /N3 HAIRERESST | 9.100

BF DIVSR FEHH &UEHE XF DIYSR #EBH EHE

lghe| FEFE [%F B ad) g EFE |FF B B
1 |Eim BEK N2 EOALSVP 9.550 1 |HE s NG| URSILIAESST | 9.650
2 |4E B INA | PHONRRAR—YHS5T | 9.500 2 |chie B | 13| URSILIKESST | 9.550
3 |f0e & ING | FHORRRR—YI5TER| 9.400 3 B 1t INS | PHOINRARR—Y 95T | 9.500

BF DIYSR EHR #&& ZF DIYUSR #EHA Bph

Ighr| FEFE [%F B TR gtz EFHE |FF B /e
1 |#F%K 1E ING | FHONRRFE—YH5T8R| 9.650 1 |B# A N2 PKKIEISD 9.600
2 |REE INA BT a7 os—Xpikgnz 9.550 2 |/iE BER | M PKKIEHST 9.550
3 |fR —1i8 | mBEEEIST | 9.500 2 |E@ TEH INS | POINRARKR—YHST | 9.5650
3 |EiF BEK N2 ORI ST 9.500 2 | —ib /N3 HAIEIKRESST | 9.550

EHEhE

IEG| EFA | EHF B
1 |ER#ZE |FEE A DEKIREIST
2 |SMBIE |EER A DEKIEIST

HEANBEIX, FATLA VAR TIBREROTOET,




F6E KRR =TRIEFHH
Challenge & Dream A& (CDKE) AE—E

FRi26510A 198 (H)
S5 ENT)—F
BF DIYVSR EA#LE XF DOIYVSR BEABE
Bt EFE |FHE B B IEfr| EFE |¥FHE B (i
1 [#3FE BEX &1 PKEEIST  [38.100 1 |FREE HEF | /16 |79 22F—v-5T8 1 (36.900
2 | k& [ED) ING |E&E7 L 7os—xhiikggE(37.250 2 |[REF tHhEBEZE | /N6 YRS ILIKESST  136.350
3 |XFHE FEE | /6 PRAEIEIST  |37.000 3 |EA B ING | BAIXIKIEYST  [35.850
4 |EHE NG KiRA#EIST  [36.800 4 [BRE XH ING | YRFILIKIESST  35.700
5 [=F 18 NG| MBEFKIREIST  [36.650 5 [HLE M B ENAEYST [35.300
6 |FEA FRtt 2 | FOINRRKR—Y 57T (36.450 6 (O #BFIHR| P2 | FEAHEKIRISTEFK|35.250
7 |5k B 1 MBZHEEIEIST  [36.400 7 |FRN EEE NG ANAKEIST 35200
8 |&AA It ING | TONRARR—YH57T|35.800 8 |FE FII | 1| FEAHKIRIST EFKR|34.950
9 |BEIS Ef NS | MBEFKIEIST [35.700 9 |B¥ SATE | /5| KREFWAKEIST |34.850
10 |RiTE && ING | O INRRIR—YH5T|(35.600 10 M+ ZEa | &1 [ FEAAEEBISTEBHR|34.500
BF DIHSR TEHA Wh ZF DIYSR FEHH LU
gt EFE |¥FHE B B IEf| EFE |[¥HE B (i
1 |#AFE BX &1 PKREEIST 9.550 1 |0 BFE| f2 [ FAAkiRISTESRK| 9.300
2 | E#E FED ING |BET s ar T os—ZekagE( 9.500 2 |FBFE BEF | /N6 | 7o zrzxKR—ys5T78R] 9.250
3 |XFHE FEE | /6 PKREEIST 9.400 3 |ER #FB | 1| rSAHERBEISTEEH] 9.050
B¥ DIHYSXR #EBH HE ZF DIYSR B E#kéE
Bt EFE |¥FHE i B Bt EFE |FHE i TR
1 |¥aFE BX 1 PKREEIST 9.350 1 |B% 487 [ /5| KERFEWEIEIST | 9.550
2 |3t B 1 mBZHEEIEIST | 9.200 2 [BEARBEK | /5| BAIEKESIST |9.500
3 |XFHE FEE | /6 PKREEIST 9.100 3 |A%E Em ING | TBAILIKESST | 9.450
BF DIYSR #EBAH LU ZF¥ DIHYSR EBA F¥HE
Bt EFE |¥FHE i B Bt EFE |FHE i TR
1 |¥AFE BX 1 PKREFIRIZT 9.500 1 |BE XH ING [ YRFILIFKIEIST | 9.100
2 |FAR it 12 | FONARRR—Y 95T | 9.450 2 |FR) X NG AN 1KREIST 9.050
3 |[aH & e KRFigo>7 9.250 3 |BE HER | /6| URIIEIEYST |9.000
3 |&BER 22X | P21 |FTIONRRKR—YHST| 9.250
3 | Lk RETh ING |mmErosa7os—xpmmaaz| 9.250
BF DIYSR B &&E ZF+ DIYSR HEHA BpH
Bt EFE |FHE i TR IEfI| EFH |FHE B il
1 |#aFE BX F1 PKREEIST 9.700 1 |fE#E HEF | /6 |71 z22K—v55T8 8| 9.400
2 (RIS EHE N | MBEEKIREIST [ 9.550 2 |FEAX Bk ING | RAIRKIEYST | 9.300
3 |ZAA It INS | TONRRIR—YHS5T| 9.500 3 |BE XH ING | URTZILIKIEY ST | 9.200
3 |=ZF & N5 | ABEFEIST | 9.500
3 R 2K | F1 | 7UNRRRER—YH5T| 9.500




FoE KRP1ZTIKRIERE
Challenge & Dream K& (CDXR) AE—E

BF CII95R BARE

TRE265108198(R)
215 EN7—F

ZF CII5R HAKRE

lgfr| FEFE |FHF B R lgfr| FEFE [FF B B
1 |NF =8 | M| TONRRR—Y95T[47.600 1 | Ex N3 PKREIZEIZT  [48.350
2 |[f&H 7 IN3 | REFHEIRSST  |47.000 2 |EE B N[ REFHRIRSST [47.450
EESR N ZARYGIEKFYST  |46.350 3 |&EXX N PREIEIST  |47.100
4 |BHE N4 KRAEEIST  [46.250 4 |#AE B N PKREIZEIZT  [46.750
5 |y & ING | T OINRRIR—YHS57T46.100 5 |[BEBEE N3 | URZIVIKEY ST |46.450
6 |FF R4E | /M3 PIKKESST 46.050 6 |E&t x|/ KiRiKESST 46.350
7 |RIF IN3 | REFHAEIRIST  [45.900 7 | iRE N2 | YRZIVIKEY ST |46.000
8 [EAK BR |/N4 PFREIEIST 45300 8 | =i N | ERFEFRR—YH5T[45.900
9 |dbkF = Ny KIRIAEESST 45.150 9 |£H JIFB | /N3 |MREFRER—YI5T|45.850
10 |[ZVE & | /M| PAREERIST  [44.950 10 |%& & M| UNFILIKIESST  45.750

BF CIH5Z WHA Wi XF G152 WHH LU

lgfr| FEFE |FF B BR lgfr| EFE [FF B Ba
1 |f8H 7 IN3 | REFARKIRSST | 9.250 I INS | PHNRRKE—YH5T#ER[12.100
2 |BEEH RE | /I3 PIKKESST 9.150 2 |HRESHA | N |7H1322K8—v55T8BR|12.050
3 |RiE M IN3 | REFHAEIRSST | 9.100 3 |&EM Bk M| REFAERIRESST |11.900
3 [=EVR & | M4 PREIEISD 9.100

BF CI/5R #EBH HAE ZF CIl1H95R #HERN BEEVETHE

lgfr| #EFE |FF B B lgfr| EFE [FF B BR
1 | —85 ING [ THOIRRRR—Y 5T 9.650 1 |FEE N3 PKKIEIST 11700
2 |f&H 7 NS | REFHAEEYVST | 9.600 B N URZIVIKIRESST [11.650
3 |[RIE# IN3 | REFHAEIRIST | 9550 3 |WixiEE N2 | YRZIVIREYST  |11.550

3 |B&M X |/ NS P 11.550

BF CIH5R #HER 2VHk(EEmMER) ¥+ CIHSR BB F¥&

lgfr| #EFE |FF B B lgfr| EFE [FF B BR
1 |NF —85 N[ THOINRRKR—Y 5T 9.650 1 |FExE N3 PKKIEIST  |12.350
2 [dLig 4= N KIR{AEESST 9.600 2 |EIZ y\v PKKESST 12.250
3 |AtE N4 NS P 9.550 3 |BEEX M PR EFRKR—YH57]12.100

BF CIH95R #EBH #H%E ZXF CIHSR EBH Bh

lgfr| #EFE |FF B B Igfr| EFH [FF B B
1 |BEE F IN3 | REAHAEIRIST | 9.450 1 |FEE N3 PKIKESST 12.500
2 (NI —5k INL | THOINRRR—Y ST | 9.400 2 |&Hk &K N REFAERIRESST |12.400
2 [dLig 4= N4 KRAEISD 9.400 3 [E3x ha PXRKESST 12200
2 |FEF R4E | /3 PRAEIEIZD 9.400

BF CIH5RX #EHA F1T#&H

lgfr| #EFE |FF B B
1 |&&yFH & ING | T OINRRR—YHS5T| 9.700
1 |5%E8E N ZARYDIEFYZT | 9.700
3 [JIF —5; INL | THONZRRKR—Y 95T 9.600

BF ClH95X EHA &%

lgfz| #EFE |FF B B
1 |Is —5R INL [ THOINZRRR—Y ST 9.900
2 |AtE N ABRIAES ST 9.750
3 |f8H 7 N3 | REAHEIESST [ 9.700

*HEAANBE X AT AXTIEREROTLET,




FoE KRP1ZTIKRIERE
Challenge & Dream K& (CDXR) AE—E

BF CIV95RX BEANBE ZXF CIVSR BEAEE
IEGL| EFE |2E B Ba lEGL| EFR |ZF B Ba
1 (8@ FEN f1 GGSY57 47.650 1 |BERNEE 1 ILbyTH5T 47.900

2 |IhK B 1 FEAAEIESST  |47.200 2 |HEEHE ING | TOINRRR—Y 95T |47.500
3 |1BH #H4 | P2 [FEAAKIREIST EF[46.800 3 | BE INS |EREFRR—YH5T(47.350
4 [3R K NG ILbyTH35D 46.300 4 |hFE H#DE | 6| VICRIR—YHST  |47.300
5 |Hit #IK ING | VICRR—YHST  |45.700 5 |7 gy 2 | VICRER—YIST  [47.050
6 |ma BERK 1 [FEADEREBEI ST EFR[44.200 6 | imE N5 PREIEIST  |47.000
7 |MOSFE B | B | RS AKIRSST £ Fk[44.100 7 |BARER INS |BRFEFRR—Y95T(46.900
8 [ K | B [FAHEKIRIST EEF#R|43.850 8 |BAK EI& NS | VICRKR—YHS5T  [46.900
9 W& B4 | 1 [FEAHEKIRISTEERR|43.550 9 |FZE 3 INS | POINRRR—Y957T[46.900
10 |BER B | 2| RBEFREIZT  [43.200 10 | KT #¥ H1 PFIREIEIST  |46.300

BF COIH9SR #EEA BHh ZF CIHVSR EEH LUHE

G| FEFE |FHF B BR IEhr| #EFHE |FHF B Bwa
1 |f8H EN =R GGSYS57 9.150 1 |BEAEE 1 ILbyFH95T  [12.100
2[R TEH =) FEAHEESST | 9.100 2 |WTF BEHF | /I5| FSAHEIESIST  |11.950
3 |®st K N6 | VICRR—YH35T | 9.050 3 |#HKEKR NG |MREFRAR—YHS5T[11.850
3 |{BH 4% | B2 [FEAHKIEISTERFK| 9.050
3 |3 WX ING ILbyTH5T 9.050

BF CcI/5R #EBH HAE X+ CIHYSR EER BEVETE

IEfr| FEFE |FHE B B IEfr| FEFHE |FHF B BR
1 |f8H SHE | h2 |FSHHERIEISTEERRK| 9.750 1 |KIR &7 NG | URZILIKIRIST [12.150
2 |[fBHE =N = GGSHYS57 9.700 2 |BRLL FE H1 PXRKESST 12,100
3 [N EH 1 FEADEKESST | 9.600 3 |MrF 2| VICRE—YHST [12.000

BF CIHSR EHA SYm(EMER) XF¥ CIHS5R EEH FH&E

IEfr| FEFE |FHE B B IEfr| FEFE |FHF B BR
1 |HE kRt 1 | 7oRRRR—YH5TER] 9.750 1 (& &#DF | 6| VICREKR—YHST  [12.200
2[R TEH = FEADEKESST | 9.300 2 | ER NS |BREFRR—YH57T[12.150
3 | @K | /6| VICRKR—YH3T [9.200 3 |FHEEE | /I |THNRRR—YHFT[12.000

BF CcI/5R #EEH #%E ZF COIHSR #HEH BphH

IEfr| FEFE |FHF B Ba IEfr| FEFHE |FHF B B
1 |BH #HE | P2 |FEHHEIEISTEFHRK| 9.600 1 |BEAEE g1 ILMTH5T [12.300
2[R TEH = FEADEKESST | 9.550 2 | ER NG |MREFRKR—YHF7T|12.200
3 |[fosEE Bt 1 [FEAAERIESSTEER| 9.500 3 |HLEEE INS | PONRRR—Y 95T (12,100

BF CIH95A HEEA FT#&

IEfz| FEFE |FHF R B
1 |f8HE EN ==l GGSY57 9.600
2[R TEH = FEADEKESST | 9.500
2[R X ING ILbTHS5T 9.500

BF¥ COIJSR ERA i

IBGL| EFR |2E B B/R
1 |88 EN =R GGSH357 9.850

2 |d#ik #IK N6 | VICREKR—YHIST |9.800
3 /R EH =R FEAHiKEYST | 9.450

*HEAANBE X AT AXTIEREROTLET,



